
MATHS

BOOKS - CHETAN MATHS (TAMIL ENGLISH)

GEOMETRIC CONSTRUCTION

Practice Set 4 1

1.  In 

 Construct 

 such that .

Watch Video Solution

ΔABC~ΔLMN.

ΔABCAB = 5.5, BC = 6cm and CA = 4.5cm.

ΔABC and ΔLMN, =
BC

MN

5

4

2.  In 

 Construct 

ΔRST ~ΔXY Z.

ΔRST , RS = = 4.5cm, ∠RST = 40∘ , ST = 5.7cm.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cz8VgKT9SmNj
https://dl.doubtnut.com/l/_nvjrTniocE1i


Practice Set 4 2

, such that .

Watch Video Solution

ΔRST and ΔXY Z =
RS

XY

3

5

3.  In 

 Construct 

 such that 

Watch Video Solution

ΔPQR~ΔLT R.

ΔPQR, PQ = 4.2cm, QR = 5.4cm, PR = 4.8cm.

ΔPQR and ΔLT S, = .
PQ

LT

3

4

4.  In 

Construct 

Watch Video Solution

ΔLMT ~ΔAHE

ΔLMT , LM = 6.3cm, ∠T LM = 50∘ , and LT = 5.6cm. = .
LM

AH

7

5

ΔAHE and ΔLMT .

https://dl.doubtnut.com/l/_nvjrTniocE1i
https://dl.doubtnut.com/l/_praq7ktLyVSs
https://dl.doubtnut.com/l/_fOsY6Kmyvxww


1. Construct a tangent to a circle with centre P and radius 3.2 cm at any

point M on it.

Watch Video Solution

2. Draw a circle of radius 2.7 cm. Draw a tangent to the circle at any point

it.

Watch Video Solution

3. Draw a circle of radius 3.3 cm. Draw a chord PQ of length 6.6cm. Draw

tangents to the circle at points P and Q. Write your observation about

the tangents.

Watch Video Solution

https://dl.doubtnut.com/l/_Dd8HLq9uPSiw
https://dl.doubtnut.com/l/_svIihTuPs2QE
https://dl.doubtnut.com/l/_tQcRsaKV0wMy


4. Draw a circle with radius 3.4 cm. Draw a chord MN of length 5.7 cm. in

it. Construct tangent at point M and N to the circle.

Watch Video Solution

5. Draw a circle of radius 3.6 cm. Draw a tangent to the circle at any point

on it without using the centre.

Watch Video Solution

6. Draw a circle P and radius 3.4cm. Take point Q at a distance 5.5 cm.

From the centre. Construct tangents to the circle from point Q.

Watch Video Solution

7. Draw a circle with radius 4.1 cm. Construct tangents to the circle from a

point at a distance 7.3 cm from the centre.

https://dl.doubtnut.com/l/_fc0vTxLTYK8N
https://dl.doubtnut.com/l/_7NeFO5LRzfJv
https://dl.doubtnut.com/l/_FcgwxFyvv4J5
https://dl.doubtnut.com/l/_FNWfvWFZwKxS


Problem Set 4

Watch Video Solution

1. . In 

. Construct 

Watch Video Solution

ΔABC~ΔLMN

ΔABC, AB = 5.1cm, ∠B = 40∘ , BC = 4.8cm, =
AC

LN

4

7

ΔABC and ΔLMN.

2. Construct  such that 

 If  then

construct  similar to .

Watch Video Solution

ΔPRQ

PR = 6.3cm, RQ = 7.2cm, PQ = 5.8cm. = ,
Y Z

RQ

6

5

ΔXY Z ΔPRQ

3. Draw a circle with centre P. Draw an arc AB of  measure. Draw

tangents to the circle at points A and point B.

100∘

https://dl.doubtnut.com/l/_FNWfvWFZwKxS
https://dl.doubtnut.com/l/_1bqBBB9If0IN
https://dl.doubtnut.com/l/_Xnkf8dmeiF5v
https://dl.doubtnut.com/l/_WUceQ3gBZY6x


Watch Video Solution

4. Draw any circle. Take any point A on it and construct tangent at A

without using the centre of the circle.

Watch Video Solution

5. Draw a circle with centre O and radius 3.5 cm. Take a point P at a

distance 5.7 cm from the centre. Draw tangent ot the circle from point P.

Watch Video Solution

6. Draw a circle of diameter 6.4 cm. Take a point R at a distance equal to

its diameter form the center. Draw tangents from point R.

Watch Video Solution

https://dl.doubtnut.com/l/_WUceQ3gBZY6x
https://dl.doubtnut.com/l/_4MAr0cXvaOVj
https://dl.doubtnut.com/l/_01AtHyqEFmEu
https://dl.doubtnut.com/l/_rM1bT2dEIExW


Mcqs

7. Draw a circle of radius 3.4 cm and centre E. Take a point F on the circle.

Take point A such that E-F-A and FA-4.1 cm. Draw tangents to the circle

from point A.

Watch Video Solution

1. The number of tangents that can be drawn to a circle at a point on the

circle is………..

A. 3

B. 2

C. 1

D. 0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gZlbATPfBkzi
https://dl.doubtnut.com/l/_DFUGvZDeFt07


2. The maximum number of tangents that can be drawn to a circle from a

point outside it is…………

A. 2

B. 1

C. one and only one

D. 0

Answer: A

Watch Video Solution

3.  then ……………

A.  is bigger

B.  is bigger

ΔABC~ΔPQR, =
AB

PQ

7

5

ΔABC

ΔPQR

https://dl.doubtnut.com/l/_DFUGvZDeFt07
https://dl.doubtnut.com/l/_wuRyjl8fQ4QZ
https://dl.doubtnut.com/l/_osq3zJ3wfe0C


C. both triangles will be equal

D. Can not be decided.

Answer: A

Watch Video Solution

4. …………….Number of tangents can be drawn from a point inside the circle.

A. 0

B. 1

C. 2

D. Infinite

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_osq3zJ3wfe0C
https://dl.doubtnut.com/l/_1lUhgu0h155d


5. The length of the two tangent segment drawn to a circle from an

external point are……………..

A. Equal

B. Unequal

C. Infinite

D. Can't say

Answer: A

Watch Video Solution

6. Tangents drawn at the endpoints of a diameter of a circle are………..

A. Equal

B. Perpendicular

C. Parallel

D. Intersecting each other

https://dl.doubtnut.com/l/_B2mccj4QitrE
https://dl.doubtnut.com/l/_jAgYXaM7NSoA


Answer: C

Watch Video Solution

7. In ,  If , then 

A. 4

B. 6

C. 9

D. 8

Answer: B

Watch Video Solution

ΔABC~ΔPQR1 AB : PQ = 2: 3 BC = 4

QR = …………. .

8. If  then into how many equal parts seg AC is divided

to get point B?

AB : BC = 3: 5,

https://dl.doubtnut.com/l/_jAgYXaM7NSoA
https://dl.doubtnut.com/l/_y6IFpSzhKd61
https://dl.doubtnut.com/l/_xbe762911mr2


Problems For Practice

Watch Video Solution

1. Draw a line segment  Take point R on it such that 

.

Watch Video Solution

PQ = 8cm.

l(PR) : l(RQ) = 3: 2

2. . Draw a seg AB, If 

Watch Video Solution

l(AB) : l(BC) = 3: 2 l(AB) = 7.2cm.

3.  Draw  if

.

Watch Video Solution

ΔXY Z~ΔABC, ∠X = 40∘ , ∠Y = 80∘ , XY = 6cm. ΔABC

AB : XY = 3: 2

https://dl.doubtnut.com/l/_xbe762911mr2
https://dl.doubtnut.com/l/_4joTmdAiZ6mp
https://dl.doubtnut.com/l/_oI9UGASSvq9t
https://dl.doubtnut.com/l/_5jHvg7fQpXZM
https://dl.doubtnut.com/l/_mwJlZueGsfpC


4. Draw  with side .

Also, construct  whose sides are  of the corresponding sides of 

Watch Video Solution

ΔABC BC = 6cm, AB = 5cm, and ∠ABC = 60∘

ΔXY Z
3

4

ΔXY Z.

5. 

. Construct both triangles

Watch Video Solution

ΔPQR~ΔABC, PQ = 3cm, QR = 4cm, PR = 5cm. A(ΔPQR) : A(ΔAB

6.  Construct 

 if .

Watch Video Solution

ΔPQR~ΔGEF , m∠P = 70∘ , PQ = 5cm, PR = 3.5cm.

ΔGEF , PQ : GE = 5: 7

https://dl.doubtnut.com/l/_mwJlZueGsfpC
https://dl.doubtnut.com/l/_HZXZh1jSBfQ5
https://dl.doubtnut.com/l/_VgXUIfY9dJbO


7.  Construct 

 if .

Watch Video Solution

ΔPQR~ΔXAB, m∠P = 60∘ , PQ = 6cm, PR = 4cm

ΔXAB, PQ : XA = 3: 2

8.  construct  such that 

 then

construct .

Watch Video Solution

ΔAMT ~ΔGHE. , ΔAMT

MA = 6.3cm, ∠MAT = 120∘ , AT = 4.9cm and = ,
MA

HG

7

5

ΔGHE

9. Draw a tangent to a circle of radius 3 cm and centre O at any point K on

the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_8W08UoxFXw3c
https://dl.doubtnut.com/l/_6I64ROXyPAQd
https://dl.doubtnut.com/l/_u5IJk1Ny0sgb


10. Draw a circle with centre  and radius 2.6cm. Draw a chord AB of

length 3.8cm. Draw tangent to the circle through points A and B.

Watch Video Solution

P

11. Draw a circle with radius 3.4 cm. Draw tangent to the circle, passing

through point B on the circle, without using centre.

Watch Video Solution

12. Construct a circle with centre O and radius 4.3 cm. Draw a chord AB of

length 5.6 cm. Construct the tangents to the circle at point A and B

without using centre.

Watch Video Solution

https://dl.doubtnut.com/l/_xEmRhpqcEhKE
https://dl.doubtnut.com/l/_IhiP1IyUzpCF
https://dl.doubtnut.com/l/_jd2NnEYOCMkZ


Assignment

13. Draw a circle with centre M and diameter 6 cm. Draw a tangent to the

circle from a point N at distance of 9 cm from the centre.

Watch Video Solution

14. Draw a circle with O as centre and radius 3.8 cm. Take two points P and

Q such that  Draw tangents at P and Q without using

centre.

Watch Video Solution

∠POQ = 120∘

15. Draw a circle with O as centre and radius 4 cm. Take a point P at a

distance of 7.5 cm from O Draw tangents to the circle thorough the point

P.

Watch Video Solution

https://dl.doubtnut.com/l/_PKAccbiCNEzv
https://dl.doubtnut.com/l/_WS1krcy00TkO
https://dl.doubtnut.com/l/_6uyGsHbwtJg1


1. The number of tangents that can be drawn to a circle at a point on the

circle is………..

A. 3

B. 2

C. 1

D. 0

Answer:

Watch Video Solution

2. The length of the two tangent segment drawn to a circle from an

external point are……………..

A. Equal

B. Unequal

https://dl.doubtnut.com/l/_IP7Sy8zK6Mxw
https://dl.doubtnut.com/l/_r4aOAfZU1KRI


C. Infinite

D. Can't say

Answer:

Watch Video Solution

3. Draw seg PQ=8cm. Divide it in the ratio 3:5,

Watch Video Solution

4. Draw  and bisect it.

Watch Video Solution

∠ABC = 120∘

5. Draw seg AB of length 6.3 cm and bisect it.

Watch Video Solution

https://dl.doubtnut.com/l/_r4aOAfZU1KRI
https://dl.doubtnut.com/l/_ewUa0RLG1ZVZ
https://dl.doubtnut.com/l/_Jfj0q1cxkn64
https://dl.doubtnut.com/l/_Rfl6QGBwoKjC


6. Draw .

Watch Video Solution

ΔDEF , EF = 5cm. ∠D = 40∘ , ∠F = 50∘

7. Construct a circle with centre O and radius 3.5cm. Take a point on it,

draw a tangent passing through point P.

Watch Video Solution

8.  Find YZ

and XZ.

Watch Video Solution

ΔABC~ΔXY Z, AB : XY = 3: 5BC = 9cm, AC = 4.5cm.

9. Draw a circle with centre  and suitable radius. Draw a chord AB of

length 5cm. Draw tangents at points A and B without using centres.

Watch Video Solution

P

https://dl.doubtnut.com/l/_4KzGzmCXDi4p
https://dl.doubtnut.com/l/_sbZeRhxAWam0
https://dl.doubtnut.com/l/_C9W0I1rjmAyM
https://dl.doubtnut.com/l/_iytWgXwrtawp


10. Draw a circle centre O. Take two points P and Q on the circle with such

that  Draw tangents at points A and B.

Watch Video Solution

∠AOB = 120∘ .

11. 

.

Construct only 

Watch Video Solution

ΔDEF~ΔPQR, ∠D = 40∘ , ∠F = 60∘ , DF = 6cm, DE : PQ = 3: 4

ΔPQR.

12. Draw a circle with centre A and radius 3.5cm. Take a point B such that

d(A,B)=8cm. Draw tangents to the circle passing through point B.

Watch Video Solution

https://dl.doubtnut.com/l/_iytWgXwrtawp
https://dl.doubtnut.com/l/_LA3hdsQ8iyep
https://dl.doubtnut.com/l/_fR8Tq1g81oBW
https://dl.doubtnut.com/l/_FXzvjBJvLCHd


13. 

Construct 

Watch Video Solution

ΔABC~ΔGEF , AB : GE = 5: 2. AB = 6cm, BC = 7.5cmAC = 5cm.

ΔGEF and ΔABC.

https://dl.doubtnut.com/l/_7XxkOVtMl1ll

